07107 KERIRLZ |, REk , HFHIRL

M
BERFARMN , BESREL N 10.9
HhAMRBR

g
Z @Rk,
TERZFELAE | =,

B

TETERKN A RATREEERTE, XaiEEd. ITXERET
FEFEFFTHREE , TLUEA B R | HaliR# ¥ E KA B EN
23k 9° HRE.

BT R L T RS R B R I BR T R R AT .
HERR :

A B BRER
B AY: EREK

[} (] )
— ] ]‘\ { —
Q 17 T — Q
H |
Y
» L1
07107-10410 A M4x0,5 - 10 - 2,5 2 3,5
07107-10406 A M4x0,5 - 6 - 2,5 2 3,5
07107-10512 A M5x0,5 - 12 - 3 2,5 4,5
07107-10508 A M5x0,5 - 8 - 3 2,5 4,5
07107-10610 A M6x0,5 - 10,8 - 4 3 9
07107-10612 A M6x0,5 - 12,8 - 4 3 9
07107-10616 A M6x0,5 - 16,8 - 4 3 9
07107-10620 A M6x0,5 - 20,8 - 4 3 9
07107-10625 A M6x0,5 - 25,8 - 4 3 9
07107-10810 A M8x1 - 11,2 - 5,5 4 10
07107-10820 A M8x1 - 21,2 - 55 4 15
07107-11012 A M10x1 - 13,7 - 7 5 20
07107-11025 A M10x1 - 26,7 - 7 5 20
07107-11216 A M12x1,5 - 18 - 8,5 6 30
07107-11230 A M12x1,5 - 32 - 8,5 6 30
07107-11620 A M16x1,5 - 23,3 - 12 8 60
07107-11635 A M16x1,5 - 38,3 - 12 8 60
07107-12030 A M20x1,5 - 34,2 - 15 10 90
07107-12040 A M20x1,5 - 442 - 15 10 90

© norelem www.norelem.com



BRiR2e | ToREX , WHRERLL

AEEED
max. kN

(SRR )

07107-20406 B M4x0,5 1,3 5,6 2,5 3,5
07107-20410 B M4x0,5 1,3 - 9,6 2,5 2 3,5
07107-20508 B M5x0,5 2,2 - 7,5 3 2,5 4,5
07107-20512 B M5x0,5 2,2 - 11,5 3 2,5 4,5
07107-20610 B M6x0,5 3,2 - 10 4 3 9

07107-20612 B M6x0,5 3,2 - 12 4 3 9

07107-20616 B M6x0,5 3.2 - 16 4 3 9

07107-20620 B M6x0,5 3,2 - 20 4 3 9

07107-20625 B M6x0,5 3,2 - 25 4 3 9

07107-20810 B M8x1 4.1 - 10,3 55 4 10
07107-20820 B M8x1 4,1 - 20,3 55 4 15
07107-21012 B M10x1 5,6 - 12,3 7 5 20
07107-21025 B M10x1 5,6 - 25,3 7 5 20
07107-21216 B M12x1,5 7 - 16,2 8,5 6 30
07107-21230 B M12x1,5 7 - 30,2 8,5 6 30
07107-21620 B M16x1,5 10,7 - 20 12 8 60
07107-21635 B M16x1,5 10,7 - 35 12 8 60
07107-22030 B M20x1,5 13,5 - 30 15 10 90
07107-22040 B M20x1,5 13,5 - 40 15 10 90

© norelem www.norelem.com



